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The figures in the ﬁiargm indicate full marks

f or the quesuons

1. Answer the following .. jirected -
RO RtTRE) geq i -
(a) Truth or ,'falsity is a property of
term/propositio, /argument,
( Choose the correct answer )

STl N SO Gy #1775 /3RS 4t |
(&% CEIC! AR B )
(b) An argument p,s one premise/two

premises/no fixeq pumber of premises.
( Choose the correct answer )

1x10=10
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(c)

(d)

(e)

<01 ST 9B R T ACH/TB1 SR T
T /AR I5A] P R 71 A |
(o Tttt AfR Sferear )
Validity of an argument is concerned with
the form of an argument/content of an

argument/both form and content of the
argument. '

( Choose the correct answer )

I Reo IRy T S/ RwEs
:%Z/{F@% R e ReRe tewa @
|

( o Teaeh AR Sferean )
State one point of difference between
deductive and jnductive inference.
R W o SR e @Bl T
TR T4

Give an example of particular negative

proposition

<01 RO Squafes oo Srrzaet fA |

(f) The figure of 5 syllogism is determined by

the position of the

term.
( Fill in the blank )

— TR ST ST TN wEW AT

A

04A/ 753

( A& 31 o[ 1)

( Continued )

i

(h)

()

0)

(3)

(g BAROCO is a valid syllogism/immediate

inference/distributed term.
( Choose the correct answer )

BAROCO bl (34 /4N o= /NG
oI |
(o= TeCh! AR St )

State any one general rule of a cat egorical
syllogism.

abr Freer® TR R QN by e
e

What do the ideograms stand for9
e % & Bt 3o

Under what condition,

an  equivalent
function becomes true?

& TS Bt TNLT T 770 g o
2. Answer briefly : 2x5=10
126 e fn
(a) Define argument with example,
TeaerTz e ke fn |
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(4) ts)

(b). Reduce the following sentences into : (b) Write 2 Sl.“.m note on square of opposition
3 " f proposmon. v S
Proper logical propositions and mark them ‘ ©
asA,E,I,o.p P " 5 R 0T T 1 5 Gret forar 1
O AFRIRG [EFHS AL TG T S : (c) Distinguish between figure and mood of
A, E, 1, O focacs s w1 syllogism.
. (1) -Au students are not equally T FAZEME e S{%? b)) llQﬁﬂ ﬁ‘fﬁ 91
Telligent. (d). What is simple proposition according to
) ﬁﬁmﬁﬁnﬁi ST T 7= | modern. classification’ of proposition?
- (i) Virtuoyg alone are happy. : Define e'ach o.f the différent forms of simple
T e s proposition With example. 1+4=5
Y two rules of conversion. @7 SRR Zﬂz@ Rfew R T
ﬁcnc;’”@‘ﬁﬂ’lwix‘ml : : mmmml
- (d) Wri . . : "
(d) Wite two utilities Of the yses of symbols. {e) Symbolize the followingpropositions :  1x5-5
I 51 T gt | wers fa TPTR ARE 1S Newnay
CTRIPIR © . SR gy foa | 3O 9 Ty @ /RN
3. Answer the fouowing questions (' four) : 5x4=20 (ii) Either Rakesh js intelligent or he is
U T s ot (R oy o)« onest ]
@ Exol @A B = TP s et 6 R |
a) Explain the relation b ‘di s
or invalidity of an arg::::;nmtll:ie t:ua:;dlg (iii) If you read attentively, then you will
falsehOOd of its pl‘crnises and conclusion. Succeed n the e,xammatlon. R
T el 1 IR s e | PR T W R s
PraTe Terer 1 SPTSTOR Sok gt 3541 | TR R
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(6)

(iv)] The weather is not good but Rita
goes for a walk,

IST S A R ez it w0

(v) It is false that the field is muddy and
wet.

GO R @ e @y o o |

What is categorical proposition? What are

the different «types of categorical
proposition? Explain, 1+4=5
FRers o 3% awerr Raems R AR
APIPTR 3 1, 0 3114
4. Answer the following Questions : 10x4=40
fREfR® erarey wes i :
(a) Define syllogism With example- Explain its

24A/753

characteristics. 2+48=10

meﬂmﬁmuwm
RURIEE

Or/73qy

What js jmmediate inference? Explain
obversion with rules as a kind of immediate

inference. 2+4+4=10
AR FIE I 7 Sy AR 2P
ot iz, 2T may 97 |

( Continued )

(b)

(c)

(d)

24A/753

(7)

What is symbolic logic? Discuss the
characteristics of symbolic logic. 4+6=10

O HREM IF - AT AR
SFREIT (BRI S 4 |
Or/«i&r
Discuss the relation between symbolic logic
and classical logic. 10

HORET RSN W Wﬁrsﬁs R
WMWWI«

Define proposition acCOIdmg to modern
logic. Explain differentftypes of compound
propositions with example 2+8=10

e SFREN wﬁ ?R S oo
Trrz RRA ema cﬁﬁﬁ‘ TR
1

Or/arzat
What is truth- funct]on" What are the basic
truth-functions? Explain each of them.

2+2+6=10
o] ol II¥ QIE 2 cﬁlﬂ‘l‘ w >
2 7 AfSCOT TSRFoT 741 1
Construct truth table for any five of the
following  Propositional forms and
determineé Whether it is tautology,
contradictory or coptingent : 2x5=10
- ( Turn Over)




(8)

wore fil R WeReR oW R G
fob e R s v wE GRETR
Forre, oW & wffe TWRRAE, R
90

(i) pD(pvq)
(i) (p-q)Dp
(iii) (p-q)-(pVvq)
(iv) (pVvq)-(~p:~q)
(v) ~Ip>(pVe)]
(vi) p-(~pvq)
) Onysten
What is indirect or shorter-truth table
method? Discuss the method of proving

validity or invalidity of argument by
shorter-truth table method. 10

AT 1 oY TO-e TR FF @2 b
Tej-wifere “aeT e LT el 1 e
SR Ao IR 31 |

Yook K
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